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S H - BR(S) - MSAY - B2 Ofl vl e MimE=T,
201 YEr2AHH| 27,532 27,052 480
01 At222| 8| 27,532 27,052 480
Ogt==2H| 14,020,000 & * 1A 14,020
o=t 7,104,000 * 14 7,104
OYUXI= 6,408,000 * 14 6,408
202 oidl 16,900 16,900
01 2LH0Y| 16,900 16,900
OgYR=& J|IE0H| 16,900,000& * 14! 16,900
203 HRF&H| 6,200 5,600 600
03 AIZEF=XARFAIY| 2,000 2,000 0
OMNHAREE 2,000,000& 14! 2,000
M4 ENSHHERFEIH] 4,200 3,600 600
OFAMSHYRF=E| 350,000 x12& 4,200
MNWRES (MM (LEIBBHH/ME - 2 8) 197,184 300,000 A102,816
LHEHeHXIE (KH R ) 197,184 300,000 A102,816
LHEHeHXI = (TH R 1) 197,184 300,000 A102,816
702 JI2EE2 197,184 300,000 A 102,816
01 JI28&82 197,184 300,000 A102,816
o222 =2
197,184,000 * 14! 197,184
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